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EE210 Roll No. : ........ veerearesreas
MANAGEMENT
Fatfra g Vawer [rfererem 37 : 30

Time allowed : 12 Hour]

[Maximum Marks : 30

e . (i) W I afErd s e T 1 FEFE

Note : All Questions are compulsory and each question is of 1 mark.
(ii) T sy 7 s 17 @1 Rt o sigon s Bt wra &

Only English version is valid in case of difference in both the languages.

1. wHYeR @ AiiseTs SR SeR]
(M.R.T.P.) =1 aifigmg &
(a) 201 o Sienfiemor o |
(b) = SE = e w5
(c) I ¥ iy 3iv awqail = wma
HH BT |
(d) e ue Fee & qea Fram %
T == T SERt a1 et
Y |
2. W R W wHd % GEgard e
HiT TR E?

(a) AIS.ILB. (b) NSILC.
(¢) NR.D.C. (d) RAJCON

3. ‘T Aviiw eSO e fem b
(a) srwaTE ®)
(c) IRAR d) I&

The meaning of MRTP

{Monopolies & Restrictive Trade

Practices) is :

(a) Industrialization of country

(b) Development of new industries

(c) Increase in production and
decrease in price of commodities

(d) Union of trade practices for
restriction & controlling of
price of products

Which one of the following is not an
entrepreneurial support institutions on

central level 7
(a) ALS.ILB. () N.S.IC.

(¢) N.R.D.C. (dy RAJCON

Which one of the following district
has an “A” category district industries
centre ?

(a) Banswara (b) Bundi

(¢c) Udaipur (d) Churu

P.T.O.
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4. IMETEA 9000 ¥
(a) TG % fAT Fanferet ToReT Higet
(b) It e & fow
(c) T 9 FH & T
(d) TR FAeme % ferg

5. ¥R A 3ARE @ ST OF T
g tical o
(a) JARE BETHeR-ITE-FRee
(b) TUEH-TAZ-FARTR-FEE-
IR
(c) ST I R EeReR
(d) T IATEH- AR T

6. NSICHqumt:

(a) National Small Level Industrial
Corporation ‘

(b) National Small industrialization
Corporate Sector

(¢) National Small
Corporation

(d) National Small
Corporation

7. TSEgadE T I BT AL
(a) UAE AVAA §h
(b) 3T FF
(c) TER qH
(d) TEIHTEH.

8. driwmdwTFaEmaTE?
‘ (@ LMPF. () ICICI
() RB.L (d SB.L

Investment

Industries

9. RAICON®I[UAm ¥
(a) Rajasthan Consultancy
Organisation for Nationalization
(b) Rajasthan Consultancy of

Organisation Ltd.

(¢) Rajasthan Corporation for
Nationalism

(d) Rajasthan Corporate

Organisation for Nationalization

2
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ISO 9000 is for

(a) Quality assurance model for
establishment

(b) Final inspection

(¢) To reduce the cost

(d) Quality management

The steps of marketing is

(a) Manufacturer — Wholesaler -
Consumer — Retailer

(b) Manufacturer — Agent - Wholesaler
~ Retailer — Consumer

(¢) Manufacturer — Consumer -
Retailer — Wholesaler

(d) Consumer - Manufacturer -
Wholesaler — Retailer

The full form of NSIC

(a) National Small Level Industrial
Corporation

(b) National Small Industrialization
Corporate Sector

(c) National Small Investment
Corporation

(d) National Small Industries
Corporation

Which one of the following is not a
Nationalized Bank ?

(a) Punjab National Bank

(b) Andhra Bank

(¢) Allahabad Bank

(d) HD.F.C.

Which one of the following is called
Bank of Banks ?

(a) LMF. (b) ICICI

(c) RB.L (d) S.B.L

Full form of RAJCON is

(a) Rajasthan Consultancy Organisation
for Nationalization

(b) Rajasthan Consultancy  of
Organisation Ltd.

(¢) Rajasthan Corporation for
Nationalism

(d) Rajasthan Corporate Organisation
for Nationalization
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10, T QB G IF N IHR TG § 7
(a) oFF IH
(b) SRR T M U
(c) YEitFa %
(d ¥
11, R A g0 Foe TR e &
(a) QV (by 1ISO
(c) ISI (d Q.LP.
12.  sireifirr wEEE g F AT FA S 2
(a) DI & DIC
(b) NSIC
(c) RIICO
(d) KVIC
13. forad euER aF foga FAeE @ SR
Hr Goit H e & 2
(a) 15H.P. (b) 20HP.
(c) 25HUP. (d 30HP.
14, A H Y PN FEY I E
(a) et 1 S
(b) FEIHH Y
(c) o] TEATEHA ST
@ el ergey
15. Tofamnt fras W & 8t § 2
(a) U= (b) =T
(c) @ (d =
16. [ar FE § Ty B TE & 0
(a) Efre AT H TEH
(b) it

(¢) W W & HOHA
(d) TS LA H FAEA

3

10.

11.

12.

13.

14.

15.

16.
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Which one of the following is not a
type of cheque ?

(a) Bearer cheque

(b) Order cheque

(c) Crossed cheque

(d) Draft

Bureau of Indian Standard (BIS)
gives the following sign :
(ay QV (b)
(¢) ISI (d)

ISO
Q.LP.

The source of land for Industrial

Project is :

(a) DI&DIC (b) NSIC

(¢) RIICO (d KVIC
Upto what horsepower electric
connection comes under low tension ?
(a) 15H.P. (b) 20H.P.

(¢) 25H.P. (d 30H.P.

Which one of the following is not a
contract ?

(a) Single work contract

(b) Lumpsum contract

(c) Item rates contract

(d) Two stage contract

How many types of tenders are :
(a) five (b) four
(c) three (d) two

Which one of the following is not
related with service industry ?

(a) Cycle repairing

(by Washerman

{c) Repairing of pumpset

(d) Production of voltage stabilizer

PlT.O.
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17.

18.

19.

20.

21.

22.

23.

EE ) ﬁrqﬁa F vay & fraa fagia i 2
(@ 15 b) 14
© 13 @ 12

At & e T A £ 2
(@ 13 b 12
() 11 @ 10

TF FA § T F SEvEEr a4 et
£

(a) LT WITRTOr

(b) =T = w4

(c) o = fae

(d) ST aft

AT TTEA0T SATFEH e o g1 ?
(a) 1961 (b) 1986
(c) 1971 (d 1985

i 3% 9% 9ot B FE ° TU9IR T
eI T A W & 7

(a) 14 (by 16

(¢) 18 dy 21

fr= diees ¥ WA €
(a) 650 aF= | FH
(b) 250 & | FH
() 33kVEHA

(@ 110 I FA

fimeg arfufrm, 1961 =1 @ w1 &
(a) TR H T

(b) ST 3T

(c) TR ufetor 3

(d) g afer w&= w0

C))

17.

18.

19.

20.

21.

22

23,
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How many principles of management
are given by Henry Fayol ?

(@ 15 (b) 14

() 13 @ 12
How many external sources of
recrritment are there ?

(a 13 b 12

© 11 (d 10

Why there is need of selection in a
company ?

(a) Easy training

(b) Less expenses

(c) Development of institution

(d) Aboveall

When Environment Protection Act is
implemented ?

(a) 1961 (b)
() 1971 (d)

1986
1985

Upto what age, the child is unable to
work in a factory ?

(a) 14 (b) 16
(¢} 18 @ 21

Low voltage means :

(a) Less than 650 volts
(b) Less than 250 volts
(¢) Lessthan33kV
(d) Less than 110 volts

The main function of Apprentices
Act, 1961 is

(a) Establishment of College

(b) To give employment

(¢) To provide technical training

(d) To provide amount of compensation

n Y




10
FT F1 2¥ 10 9@ § e T 947 ITF
T ¥ o

(@ 10% ®) 20%

(€) 30% (d) 40%

fiort &% w gvear @O 79 g
4t 7

(a) 1948 () 1951

(c) 1961 (d)y 1935

g g % oA o wee | Faw @
S g

(a) 7.5@@ (b)) lo¥mE

(c) S0+m@ (d) 100+ng
fre & | B wEEr) # e g o

(a) =T Y v AR A
(b) TERE H iR s @ P,
f=wt |

(c) TR ¥ fMu =Eem W e
FiFTEEF € |

(d) IR ol

. (LLC.) ® wm & we
HEg ot ?

(a) 1948 (b)
() 1947 (d)

1956
1961

IO F T EH A B W@ s
WHE?

(a) ABTE
(c) g (d)

Y ST TR FE H Ak T 9
PAHAAL?

(a) SENT % T

(b) T FAR HEAT

(c) T H Wi

(d) A @

(b) wwH
IR wH

24.

23,

26.

27.

28.

29.

30.
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The rate of income tax above taxable
income of 10 lakhs is :
(a) 10% (b)
) 30% (d)

20%
40%

When Reserve Bank of India is
established :

(a) 1948 (b)
© 1961 (d)

1951
1935

The maximum investment of plant &
machinery in small scale industries
is:

(a) 7.51akh (b)
(¢) 501lakh (d)

10 lakh
100 lakh

Which one of the following 1s

characteristics of partnership ?

(a) Group of two or more than two
persons

(b) Registration of partnership is
not compulsory but optional

(c) Business for partnership is
essential

(d) All the above

In which year L.L.C. is established ?
(a) 1948 (b) 1956
(c)y 1947 (d) 1961

Which one of the following element
is essential for production ?

(a) Men (b) Material
(c) Money (d) Above all

Which one of the following is not a
step for setting up small scale
industry ?

(a) Selection of Industry

(b) Preparation of Scheme

(c) Approval of Scheme

(d) Job Secker

P.T.O.
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EE210 ROIINO. & covvevevverannererenne
2016
MANAGEMENT
fratfia aum . dim e ) (rftreram 3w : 70
Time allowed : Three Hours] [Maximum Marks : 70

Tz . (i) TerT g A & VT @ el afg & g7 g
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) FCIF F¥T & G4 9PN B HHAR UF T EF BHAT |
Solve all parts of a question consecutively together.
(iii) HEF qoT F 74 §5 T GRET HIT |
Start each question on a fresh page.
(iv) &1 smarer & 3/ &7 &1 Rl o siasit s gt A &

Only English version is valid in case of difference in both the languages.

1. () YREE @HeT 9 o1 SR e 6 g s e 2
What is the main function of Mineral and Metal Trading Corporation of India ?
(i) = s o qefe AT § R SRR E 2
What is the difference between fire insurance and accidental insurance ?
(iil) VIEH Te e § 3R TR
Explain difference between admimistration and leadership.
(iv) fagors st sraumon 1 9o 29T = E 7

What is the basic objective of concept of marketing ?

1 (v} | GO o e & 5 o fofad |
! Write two functions of Ministry of Human Resource Development. (2x5)
1 2, (1) TUR % TR GEE0 H TET H GUAS |

| Explain significance of market survey of a product.
pl urvey p
(i) JEFT I T ITAH HEH el Gt F AW fafgd |

Write names of institutions which provide loans for industry. (6+6)

(6) P.T.O.
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(ii)
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)

(ii)

@
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@) 2047
SR T T & Y T HE w0 B |
Describe the objectives and functions of International Standard Organisation.
g orERT TE FET AUee & Tl @ avi S |

Describe the functions of Pollution Prevention and Control Board. (6+6)

= (RIICO) SRT T ) TG 3 @0 G H WAl B G |
Explain the process of land allotment by RIICO for setting-up of an industry.
o1e] e T A 3 SR H T T SR G AETIF & 7 TOEE |

Why selection of product and market survey is necessary for setting-up a smali
scale industry ? Explain. (6+6)

FeTt o o it @ sEaE & s e St et |

Write comments on the allottment of iron and steel for industries.

TR g A Sei et Al gt o fraret # R @ aneed

Explain in detail the facilities and concessions given by government for small
scale industries. (6+6)

i vt oon fersrr 3 g T e 3 e e o
Write main functions of National Bank for Agriculture and Rural Development.

ffaran wfswan &1 S0 it |

Describe the process of tender. (6+6)

e Wi & 3Ev ot |
Write the objectives of project report.

TR % 1SO : 9000 Frael 51 F Tt o € 2
What are the advantages of becoming an ISO : 9000 company for an industry ? (6+6)

et SR WA feoon fafed |

Write short note on public sector unit.

] ST T v Feir e, 1981 W |

Explain Air Pollution Prevention and Control Act, 1981. (6+6)




